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34. Determine the maximum bending stress.
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Use “2L” in place of “L” for a cantilever beam. 2K i f
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106. A 20 m flag pole is made of a 6 cm diameter steel «— assone

(E =210 GPa). What is the maximum axial load, using
2 as a factor of safety.
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Determine the plane of normal stress in torsion.
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107. What is the maximum shearing stress at the fixed
end of the 2 in. diameter shaft?
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100. Determine the maximum shear and normal stresses “"“/ by
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Mewt « et polar moment of area
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10.16 A 10 cm diameter §_hleﬁ can tolerate up to a 140
MPa shear stress. What is the maximum torque (N-m)?
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103. What is the ratio of maximum bending stress to the
—~ maximum shear stress in a cantilever beam with an end
load and a rectangular cross section? o> g8
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102. What is the largest shear stress in a beam with a

- rectangular cross section? TR
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35. Determine the maximum shear stress.
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